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F—1: WAfde aT==
Q.1 One feels hotter at the top of a flame then the sides because of
el ot & SR IHS—TTA D T § SATET A9 BT 9 BIAT 2, AP BRI &
(1) conductive (a1@9)  (2) convection (¥ags) (3) radiation (fafé=er)  (4)) both a and b (v wa it g=1)
Q.2. The chromatic aberration in lenses becomes due to

ot # auf fQuem &1 SR @

Dissimilarity of main axis of rays(f&=erm & =g 3fer &1 ra|AHTI)

dis similarity of radii of curvature (a@ar ol @1 AT

(3) variation of focal length of lenses with wave length TTR®] & A1 T &1 BB g3 H TRac

(4) none IuYad H | BIS ol

Q.3. if a wire having resistance 80} is stretched to double the length,, what will be the\résistance of the wire

afs 80 Q UfRY & fdll R 31 Wiaes SHS! w18 AT BT Ol 8, O S9 AR HT UORTERET

(1) 160 Q (2) 320 Q (3) 240 Q (@)e40 Q

Q4. An object will continue accelerating until & 9% T4 d& @Rd RNl ) \d D

(1) the resultant force acting on it begins to decrease S WX &= dTel UREMH], 91 @ A9 e 7 ol

(2) The resultant force on it is zero 39 W ARV a1 I 7 & S

(3) the resultant force is at right angle to its rotation IRUIH! 9o IH& & o)) faem # FFaq = 81

(4) the resultant force on it is increased continuously S8 TR IRUFH] g6, HWHT AR 96T I

Qs if a free electron is placed in the path of a plane electromagnetic wave, it will start moving
IfE T WA gelaed Bl TS [Igd— RO I & T H @Nolle, T I8 69 e # =ae uRy s

(1) towards the centre of earth gedi & &= @1 3R

(2) towards the equator of earth g & fayaq @1 o1 3R

(3) towarda the direction of magnetic field g ax® faom #

(4) opposite to the direction of electric field faga gm@NEwRIT feem 4

Q.6 the power of lens of focal lengh 1cm is™T& ¥Horllo ®rwa I aTet ofF @ wfad &

(1) 1D 1 S

(2) 10D 10 St

(3) 100D 100 2t

(4) 0.01D o001 St

Q.7 One cannot see through fog hecalise ®1E aafad ®Iex # 81 <@ AHdT, Fifd

(1) fog absorbs light DIEH=IHRT BT IqAT Har &

(2) light is scattered by'the dreplets in fog ®IER & < YHTY &I TR <N @

(3) light suffers total reflection at the droplets in fog ®rex @1 &1 TR UHRT &1 Yo WRIad &1 o 2

(4) the refractive ind€x of fog is infinity ®EX &1 UacTH d &Il b

Q.8 The dual nature 0ffight exhibited by u@Ter @ gd yafa yelRia & @

(1) Diffractiion and photoelectric effect fdac= va warIfaeg wwE g1

(2) diffraction and reflection fdad= vd WRaad gRT

(3) refraction and interference 3macs Td AfAHROT gRT

(4) photoelectric effect yarerfaglq wHra gRT

Q.9 Huygnes’ were theory allows us to know &g7=1 &7 =7 Rigid &4 w1 ool 8

(1) the wave length of the wave @& &1 dHTRed

(2) the velocity of the wave T T &1 o7

(3) the amplitude of the wave T &1 3™

(4) the propagation of wave fronts T &1 GOl

Q.10 The dimensional formula for impulse is 3T &7 fFT 4= &

(1) MLT? @) MLTY  (3) ML2T (4) M2LT

Q.11 The unit of reactance is ufrard &1 w5 &

(1) ohm a1 (2) volt dree (3) mho #r (4) newton =g+

Q.12 The layers of atmosphere are heated through arfAved &1 wag f&a Afy & T 8 € 2

(1) convenction Hag4a (2) conduction =me™ (3) radiation fafe=or @) )Band C (&) wd (f) g=r

Q.13 The internal energy of an ideal gas depens upon T& 2meel ¥ &) m=aRe Ioif =1 § & b R fiR &=t & 2

(1) specific volume fa¥re amgas (2) pressure €@ (3) temperature A (4) density g9
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Q.14 The spectrum from a blackbody radiation is wrawg fafd=or WagH &
(1) a line spectrum & WagH  (2) a band sepectrum 7€ WagH

(3) a continuous spectrum saq WagH  (4) line and band spectrum both &g vd dve WagH M1
Q.15 . When the convergent nature of a convex lens well be less as compared w ith air

IR BI oI H S o BT AR YRy T IRA

(1) In water urt # @) inoil 7 # (3) in water and oil both ur vd det qFT #

4) ST H ¥ PIT 7L none
Q.16 An electromagnetic wave goint through vacumm is described by E=Eq sin (kx-wt) Which of the following is
independent of wavelength
fafq & ¥aRd & fga—g=ar a3 E=Eq sin(kx-wt) & @rad @1 7 2| i1 § 9 -1 IR Resd 9 w@d9 87
Mk @w @) k/w @kw
Qa7 A body is in equilibrium under the action of three forces F1,F2 , F3 which of the fellowing statements is wrong &
&G LG
(1 )F1 + FZ + F? =0 (2)ﬁ,F?,F?,can be represented by the three sides®f aytrignle taken in order
(3) F1+F2+F3=0  (4) none

Q.18 If the volum of a gas is doubled at constant pressure, the avg translationabkinetic energy of it is molecule will fraa
T@ WR A fpll A9 BT 3T &1 AT PR <, A ISP AN R TiRor S ol

(1) be doubled a1 T 81 SRET (2)remain same 3maRaiid Iz (3) beeeme,four times =R T 81 SIRAN (4) none Iuad #
T B TR

Q.19 The angle between the magnetic meridian and geographical'meéridian is called gm@R ami@R JoIT “Mfold IRIGR &
9 & BT BT FEd ©

(1) angle of dip Afd—aTr (2) angle of declination fagura—a®IT (38) magnetic moment Fw=® 3Mmee!

(4) intensity of magnetic field =@ &3 #1 dear

Q. 20 If a lens is cut into two pieces perpendiculantodthe principal axis and only one part is used, the intensity of the
image I TH o BT T 31 & oFaaq al HIET H BIcT oY Td dddl Qb o1 91T &1 SuANT f6ar S, a1 ufafaw &1 fear

(1) remains same SuRafia M (2) becomes time1 /4 T R (3) becomes 2 times 2 I &7

4) none ST # ¥ HIg &I

Q.21 The ratio of mean kinetic energy permole of hydrogen and oxygen at a given temperature is f&3 T dUed W gREOH
AR Sifdo @1 ufa Arel 3fa Jfoal Soifell &7 ruTa 2
(1116 (2)1:8  (3)1:4 (@)1
Q.22 rainbow is formed due'to S=IY e HROT | I BT B ?
(1) only reflection @aa| wracd W, (2) dispersion and total internal reflection auf—faerar vd qof a7 wrad=  (3) diffraction
faads  (4) scatteringwramei=
Q23 A bomb at resteXplodes into a large number of tiny gragments. The total momentum of all the fragments faxM™ are=en
H I TS 99 ¥ fATpIceEET 8 T I8 I A17T H BIC—BIC THel # ¢ ol & |
(1) is zero T BN (2) depends on the total mass of all the fragments ¥ g@wsi & Ta g&@@E R R & (3) depents on
speeds of various fragments =T g@sl & I W R & (4) is infinity = 8Rm
Q-4 In gases of diatomic molecules, the ratio of two specific heats of gases (C,/C,) is fgwmf¥am Rl arel A4 & fog
®1 1 faRre Iwi &1 IguTd gaeasrg N
(1166 (2)1.33 (3)1.00 (4)1.40
Q.25 At magnetic poles of earth, angle of dip is g2 & Fr@ gal W AfI—HIoT BRI
(1) @ (2)45°  (3)90°  (4) 180°
Q.26 A pair of organic compounds with same empirical formula is @dfe ARt &1 e g, RreT Jargurd 3 94 8, 2
(1) ethane and ethane t9= @ Ui (2) ethane and ethyne 99 @ g (3) ethane and ethyne weii9 g g (@)
ethyne and benzene wergs @ 959
Q.27 The main component of gobar gas is TR 9 &1 U 9F ©
(1) methane #29 (2) ethane T9  (3) propane 9= (4) buane &
7.28 Which one of the following statements is correct fr=fafRad § & ®IF—a1 HF FET 27
(1) acetic acid is more acidic tha formic acid YRife® ar<t, Biffd e & 21f® i 8
(2) acetic acid is more acidic tha formic acid ®ifA® 3, YRife® 3l & 31fd®d areiig &
(3) acetic acid and formic acid are equally acidic YRife® arel T Biffe 3l FHE ®U I 3r=ig &
(4) acetic acid is more acidic tha hydrochloric acid ¥fRife® 3r, BRSTAIRG oFFd I Tfeh SwiT &
929 The number of unpaired electrons in Cr Cr(WRaTY] T =24) 3 JYFAT Seiag=i &l AT ©
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(1) 6 B (2) 5 U= B) 4 IR (4) 3 @9

9.30 Urea gives the test of IRar wderor <ar &

(1))>c=0 group >c=0 ¥qg &1 (2)-NH;, group -NH, @qg @1 (3) -CONH, group -CONH, 9qg &1

(4) all the three groups =i W&l &1

u.31 The metal present in chlorophyll is F@RIfha # IuRerd org 2

(Fe (Mg (3)Co () Mn

U.32 Soaps are metal salts of w1g= Fr=faRad # & BT o1g Taor 8 272

(1) Alkane U@+ (2) alcohol VemrErar (3) fatty acid @1 3/ (4) sulphonic acid Fewif® S+

7.33 Rickets is caused due to the deficiency of Raca ffaRad # & fhaad &f & FROT By 27

(1) vitamin A fdeif= v (2) vitamin B faeifi= &t (3) Vitamin D faerffm & (4)) Vitamin E facifi=

.34 Soaps are salts of dg fF=foaRad # & f&dad @@or 8 8 ?

(1) Strong acid and strong base Yeel 3171 TAT Ydol &R

(2) strong acid and weak base ad 3T AT gaA &R

(3) weak acid and strong base gdet 3rct Tl Uad &R

(4) weak acid and weak base gdal 31 T I &R

.35 State of hybridization of carbon and bond angle in ethane molectile’respeetively are TefiF 319] H HTE BT FHOT Fa=eAqT
qAT T PIVT B, FHI:

(1)sp® ,180° (2) sp?,180° (3)sp?,120° @)sp, 1202

u.36 The nature of bonds in NH4* ion is NH, 3 # ama=ii & @@ &

(1) ionic 3mafe (2) covalent WedAId (3) coordinate SUHEHANGH @) Covalent and coordinate WEHaITd AT IUHEHATD
¥.37 covalent and coordinate el # waifde facraeier Ricdx 2aiigs, 2

(1) AgF (2) AgCl (3)AgBr (4) Agl

u.38 The molecule which does not obey octate rule,is\eTT], i 3rcd 199 &1 U1 I8! BT ¢,

(1) CHa (2) BH3 (3) Ha0 (4) HCL

.39 In 112>Na, numbers of protons and eleétrons are respectively 23Na # Wiefi o geiagi=i @ W@ € wwen

(112 and 11 12 T 11 (11and 12 119 127 [(8)12 and 23 12 9 23 @) 11and 11 11 T 11

9.40 Which of the following is not afféectinghy electric and magnetic fields FrfeiRad 3 ¥ e R g vd g &F &
TuTg el usdl § 7

(1) proton UIeF (2) a-rays a—f@&xU_(3) s rays B —faxor (4)y — rays y— fa=or

7.41 On hydrolysis of which,one of.the following salts basic solution is obtained f=feiRaa # < fd Taor & SeRMeeT o
&R fdes ura g 2 2

(1)NaCl (2)CHs COONa ( (3) NHYel (4) NaCl
¥.42 Which of the féllowing salts will not undergo hydrolysis fR=feiRaa # & fa @aor &1 Sersraee &1 g1 & ?
(1)NH4Cl (2)CH;COONE ) CH3COONH, @Nacl

743 PH value of N/10 NaOH solution is %NaOH faee & pH &1 99 &
M @14 @13 (@) 7
¥.44 Example of emulsion is A &7 ISR B
(1) Coloured glass ¥4 @ (2) butter Ha@= (3) cloud dree @) milk &
7.45 Which of the following ions is the most effective in coagulating the ferric hydroxide sol fA=feRad # & ®F—<1 M=
HRE TRESHISS e ® Whed & oy Adifeid g9aeel g ?
(1) Na* (2) ClI- (3)Mg* (a) AP*
1;{46 Example of invert sugar is Uciid ITHxT &1 SSTERT @
) sucrose T@'ﬂ 2) glucose @™ (3) fructose waeE (4) equimolar mixture of glucose and fructose both e@™ T Bae™
aﬁﬁ BT FHD 5701
7.47. Which of the following is peptide linkage f=fiRad # & -1 Uerss 9% & ?
(1) -CO- (2) -COOR (3) —CONH (4)-CONH
¥.48 molecular weight of Na,COs is M1 and that of NaHCOs is M . the equivalent weights of Na,COs; and NaHCOs are
respectively
(1) Miand M, (2) M1/2 and M, (3)) M1/2 and M2/2 (4) M; and M2/2
949 n- butane and iso- butane are n- T TAT AEA—A B
(1) position isomers Reifad FAMEGIE! (2) chain isomers s@ell FHEGIE (3) geometrical isomers ST AHTGIE!
(4) functional isomers f&aTs FHTGIET
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750 Which one of the following is most acidic in nature Fr=ifeiRaa # & BF—AT Aalltid il Ui &1 8 ?
(1) methane #29 (2) ethane v (3)ethine wefim  (4) ethyne vormgH
Hiv—1: T
.51 How long it will take to pay a loan of 880, if Rs 25 is paid in the first month, Rs 27 is paid in the second month Rs 29 is
paid in the third month and so on: 880%. & @vl &I QT FRA H BT THI AT, AT UH HEH H 25 To, TAY Al H 27 B, TRK
qEM H 29%., 3NfE eraT fvar e § °?
(1)48 months 48 AT (2)20 months 20 78T (3)44 months 44 FEHT (4)12 months 12 A7EFT
us2 if tan(A-B)=\/3 and tan (A+B)=/\/3 Ifg tan(A-B)= T tan (a+B)= 9 | &1 99 §
(1)45°  (2)60°  (3)90°  (4)15°
7,53 The sample mean of 4,5,6,6,7,9,10 is 4,6,6,7,9,10 &T ufaael A &
"7 ()6 @3)s @)10
.54 If in a geometric progression, 3™ term is 2, 5™ term is 8 , then the 10" term is @fe AR 21T # w1 Ug 2 B, 54
UG 8, 79 10df UG §
(1)82  (2)256 (3)526  (4)512
1+tan? 6 _
1+cot26
(1)cotO (2)tan O (3)tan? O (4)tan2 O
u.56 The sum of infinite terms of

)

4 8
227 "N\81

W =
NeJ [l )

1 -2 4 -8 _
353 e quaﬁ BT AT B
(1)o (2)-00  (3)-00 (4)5_

1.57 The coefficient of variation of a distribution is,60,and the standard deviation is 20. The arithmetic mean of itsis f&t

geq @1 fI=R01 UTd 60 B T AMD a9 20 © | §AD) GANGR AT ©
100 103 3

(5 Qe @ (@0

u.58 Two poles of lengths 6 metres and 3ymetres respectively are standing strainght upright at certain distance. A third
pole of length 5 metres is placd touching the tops of the two vertical poles. The horizontal distance between the two
vertical poles is a1 Uie, fST7ab! oS BHIT 6WIcx Tg 3 Alex &, U Ml¥ed gl W WY a7 8Y WS € | Ueh dIa]l Uid, ! owrs 5
Aex B, T S Ul @ INNT DI HRNGT I BT T | IFT FHed Uil @ I afae @ ©

(1)2 metres 2 Mex (2)4 metres 4 MR (3)3 metres 3 ¥ (4) )V3metresv3metres #ex

u.59 Two geometric means:between 9 and 576 are 9 @ 576 & dI9 &I UICR A4 ©
(1) 18 9 172 (2) 144\a 86 (3)36 I 144 (4) 81 T 243

9.60 if n—> oo, thenfthe values of log.nis Ife n— oo,log, n &1 A

(1)tending to 0 cOBFIR AT E 2) 08 (e ® (@) 1%

76150 term of -5-0, -45,-40 iis -50,-45,-40, ... BT 50d7 Ug &

(1)-400 (2)+250 (3)-195 (4) +195

u62 iif in a frequency distribution, variance is 25 and arithmetic mean is 10, then the coefficient of variation is af¢ f&<
Mgy g7 H YART 25 B IRGATCR AEG 10 Bl AT [G2R1 o BT

(1)250 wferere (2) 50 ufcrerd  (3) 2.5 wfoRrd (4) SWad # | BIS 7RI

u63cos fsinf =

a1 o (3)§sin 26 (4)§ cos2 6

964 The sum of first 7 terms of 9,-6,4....is 9, -6.4......... P YU 7 U BT AT B

463 81
(1)8_1 (2)@4 (3) 91 (4) -694 \
u.65 If cotd = > then the value of sin26 is af< cot @ =3 dd sin 2071 919 2

4 5 25 24

p @7 @ @7

u.66 The standard deviation for

8,7,12,5,6,7,4is 87125674 &I AH® fada o

(1)4 (2)2 (3)258 (4)6.67

u67 Given log2=0.3010, log3=0.4771, each at base 10, then the value of log10(108) is af¢ log2 = 0.3010, log3 =0.4771,

RS BT MR 10 8, d9 log,o 108 &1 719 7
(1)3.7781 (2)2.0333 (3)2.0771 (4)2.7781
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u.68 Which of the following is a geometric progression = # ¥ BF—H 21&1 TUIaR 4161 © 7

M2z @7y ) @

N5z @555 3)2,34 4) 2480

1,69 Threee number are in arithmetic progression, whose sum is 72 and product is 13608 .the number are &9 &g
FAR &dl # 8, Rt AnT 72 8 U9 T 13608 B [@ WA #

(1)21,24,27 (2) 11,3427 (3) 17,34,21 (@) 37,24,11
g70ln Z = —loge(x),ifx = 0,thenz = —log, x # af& x=038, 4@
(Mz=1 (@) z=0 (B)z—> @)z - —o0

u71 median of the data a1 74,80,65,85,95,72,76,72,93,75,75,84,60,74,75,63,78,87,90,70 &1 HIA®T &

(193 (@75 @84 (@) 72

u72ifd = %the the value of tanf isi afg 6 = %% a9 tanf &1 A=

1128 () uRwig T&i 2 @) 0 & (4) o 2

7.73 The sum of all the terms of 4,8,12,........ 212 @ 91 UGl BT ANT

(1) 2482 (2) 2128 (3) 5724 (4) 5700

474 Three arithmetic means between -1 and 15 are -1 Td 15 & &9 9 FANR HET ©

(1)5,10,11(2) 3,-7 +11(3)-3,-7,+11 @) 37,11

4.75 The value of logs(81) is logs 81@T A9 &

(M4 @3 @2 @)oo

HN—1: Shafd=m=

u.76 The growth hormone which helps in closing of stomata ifrdarkiis 3R # i @1 98 & # WerId gfg B ©
(1) IAA (2)IBA (3)GA, (4) zeatin forufest

u.77 The backcross ratio in a monohybrid cross is Tohedassibe N U sIaT 3

(1) 9:3:3:1 () 31 3)1:1 (4) 1:211

9. mule Is an offspring of @=R ta Hafa @

(1) male and female donkey =R @I ATGT T BT W(2) coOw and ox T AT 9 B (3) mae horse and female donkey =R =TT
T #1eT 1 B (4) male donkey and female donkey =R TIT @ ST BIY @

7.79 cell organelles are found in ®IRIGRT fFeld &

(1) bacterial cell Siarey @if¥rwT 7 (2) prokaryotic cell UrRaMe®: HiRkET § (3) eukaryotic cell IbRATEH HIR@ET - (4)
cyanobacterial cell |TgASTaTT BRI

u.80 The place where the spindle fibres are attached to the chromosome is called @& =, S&f Rusa a=g ORI ¥ FST BT
e

(1)) Centriole TR®®== 42) chkomosome TPRIF (3) centromere PRIF 45 (4) chromocentre oRIF &=

u.81 The function of setae in @arthworm is @93 # & &1 w1 HE & ?

(1) digestion 4= ( (2) locométion i (3) excretion IS (@) respiration wad+

u.82 silk is collected from'em g@eer oxd &

(1) larva @@t ¥ (2) adult g% ¥ (3) pupa JUT I (4) cocoon HABY A

u.83 What is the basic of classification of animals S=gail & T BRI BT FIT IR & ?

(1) symmetry AR (2) segmentation @vEMaA (3) coelom <EET (@) all Swga &1

u.84 Which insec is harmful to agriculature @IH—3T ®ic Wl &1 JHAM Ugamr & ?

(1) silk worm =™ @1 @1l (2) lac insect @ @ie  (3) grasshopper feger  (4) butterfly fadei

u.85 Typhlosole is produced in the intestine of f&a®! arid # fewaraTa o= grem € ?

(1) earthworm &ga3m  (2) cockroach fder@cei(3) grasshopper feser () silkworm =M BT ISt

u86 Radial arrangement of vascular bundles is found in H987 4o &1 3R FaRITAA AT ST ©

(1)root T #  (2) stem T # @) leaf uxhr # (4) branch e #

9.87 only phloem contains fi% divyarg # gcr 8 /80 &

(1) parenchyma J5d®  (2) sclerenchymagesaa (3) sieve tubes and companion cells T ARl TAT TS DIRTGR]
(4) none Swad # ¥ BIg L

u.88 Which one is the part of stele ®H—1 & w1 &7 fRwar & ?

(1) epidermis arga@=n  (2) pericycle uRR®=T (3) cortex dedqe (4) hypodermis Sucr=n

7.89 Which one of the following is present only on leaves f=feiRaa % & div—ar o R gfcqal 9= 97 Sm@ar € 2

(1) hydathode STermer (2) periderm uRa® (3) cambium ®f¥qwH (4) starch sheath #vs(xer) 3maxor

7.90 which is found in endodermis =<RR@@r # @1 UrAT SGT © ?

(1) casparian strip »&RFA afcear (2) starch grain Avs &7 (3) cuticle Ffewer (4) mineral crystal @fst <ar
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7.91 cambium is responsible for &ftead R @

(1) formation of glucose Tef@r a9 @& fory (2) primary growth wrfie gfE & fog(3) secondary growth fgias g9fg &
forg (4) respiration o & forw

7.92 What is the smallest unit of classification T{i&Ror @ e BIET SHTS BT 8?

(1) species Sfar (2) genus g1 (3) order o7 (4) family g«

993 Deadelphous condition of stamens is found in g&¥R @1 fgwel faRen g Sl ©

(1) malvaceae #TelaRT % (2) rutaceae Al # (3) cucurbitaceae wHRIGCH #H(4) papiliionaceae Ufuferdr=dl

9.94 Whiich is the characteristic feature of family compositae &Il ot @1 fafre deor HF—ar 2 ?

(1) superior ovary Sedadt SR (2) inferior ovary swiadt ST (3) half superior ovary 31 Sgdacd! STRIT

(4) none I H | BIS ol

u.95 The characteristic features of family malvaceae are3 g #refadit & fafdree o €

(1) monothecous and diadelphous stamens T&emRITHRN Torr fgdell JaHar

(2) dithecous and diadelphous stamens fgwmTaTel dor fgweh gawR

(3) dithecous and monadelphous stamens fgwRTTHRT T vHEd gaar

(4) monothecous and monadelphous THARRTGR T2 Yahdell Yaar

796 Tetradynamous condition of stamens is charactersitics feature of goaz ¥ aqeidl Refd &1 ge dterr &

(1) cruciferae TAHA  (2) malvaceae Ar@a™dt  (3) legummosae oG-Il (4) solanaceae Wil

7.97 dumbbell shaped stomata are found in S99t MHR & W UGB

(1) malvaceae #rea¥lt # (2) gramineae A % (3) cruciferd@sgd®y §  (4) solanaceae wrer<il #

798 Cereal crops belong to which family &1 el BH—sga HSTAY 27

(1) malvaceae Arcta’il  (2) cyperaceae AT (3) gramin@ae Yria=i (4) cruciferae GG

7.99 selection method of breeding is the =i & W98 &1 Jg=sMafe 2

(1) newest | -3 (2) oldest Fa¥ RN (@B)median wERpH (4) best wa™T 3T

9100 during respiration, pyruvic acid is formed by ?a¥g & SR USHAH R 9T &

(1) krebs cycle =7 9% gRT (2) TCA cycle S0 HeaTONAEH RT (3) PPP cycle Wlodiodlo @& gRT (4)glycolysis TemsaifaiRd grRT
F—2: TH TG UG SEIE

u.101 Out of the total cultivated ared in indiaz\#=a 3 Wil fY S aTel B &G BT fhaar w7 Rifad § 2

(1)28-32% 289ftio—32ufdo (2) morelthan40% 4oufdo & ¥

(3)50-60% 50 ufdo—60ufio  (4) 20Ufiem304T7020-30%

9102 one hectare area comprises of & gacaR ¥ b= &5 a1 & ?

(1)10000 THIER  (2) 12000  a¥FHIEx (3) 4000 TIHIER (4)800 TR

7.103 Which of the following types of engine is used intractor ¢aex # YA fhy WM a1t §99 4 # ¥ 9 UHR &1 81ar & ?
(1) internal combustion.engife r<aa" o (2) external combustion engine drggge goid

(3) mechanical combustion engine 3% T8 g (4) all Swda w1

1:{.104%yellow revolution is attributed to the increased production of which crop &1 waa & I=d ISR &I ‘GId BIf~T FaT
Tr 7 ?

(1) yellow pulses diet a7t (2) grain crops IR ®Hd (3) oilseed crops el waa (4) all Iugad w1

7105 formaltig, the moisture content of barley should be wrfee™ & forw S # T+ @ @3 B 1Ry
(1) 20ufao—25ufcio (2) 209fd0—219f0 (3) 149fi0 & HH (4) 2ufdo | A

7106 In cotton, xanthomonasaxonopodispv. Malvacearum causes which of the following diseases wur # eI
VRIS U9, ATeaRIaNe fod SHRT &1 BT 27

(1) bacterial blight da&Raet sage (2) rust € (3) leaf spot ' wfe (4) all Swfaa w1

9.107 Wheat variety suitable for dry farming is g6 @ & fou 18 @ S0 5w Sugad © ?

(1) kalyasona &wearoT HIMT (2)6—68 (3) ®—65 (4) all Swdaa w4t

9.108 how much nitrogen is obtained from urea IRAT ¥ fHa ufie AEgRH U< BT & ?

(1) 42 bfco (2) 469fci0 (3)25 wfco (4)e09fcr0

7109 The seed rate of maize crop is #a®T & dIST & AT EFT ATRY

(1)20—21 f&HouT /B0 (2) 10 fBoTM0 /B0 (3) 25—45 fHoTm0 /B0  (4) SUF H F HIE eI

9.110 madhurii and priya varieties of maize are used as #a®1 @ fwt AR wd AT &1 GART far ST @

(1) fodder maize IR & ®T H(2) popcorn UUHH & ®I H  (3) sweet corn e &+ & w7 H (4) babycorn ¥t &1+ & w7 A
U111 silver oak is botanically known as RicaR aife &1 arwufas 9m &
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(1) cassia fistula SR¥aT e (2) millettiaovalifolia feifear siaferpiferar (3) greviillearobusta dfafera Jewer (4) bauhinia

variegate difzfar a8 rer

7.112. Which of the following flowers is used to intensify the colour of egg yolk when added to poultry feed f= # 3 o

99 & JART Pt & o # e & fied IR & [T BT T A @ fog faar srar ® 2

(1) chrysanthemum T@Em=sal (2) saffron &R (3) rose @ (4) marigold raT

§.113 khapra beetle insect attacking wheat gain during storage is known as 9USRUl & SR g B T & Tl "W dicel”

(1) rhizoperthadominic a Wit ST (2) trigodermagranarium grgaredt 39RaH (3) tribolium sp grgaiferad wirefis
(4) sitotrogaoryzae RISIGRTT RIS

U114 Propping is an important operation iin which of the following crops Ut f= M3 foa waa § &7 I drell ®

eyl feam g ?

(1) sugarcane = (2) sugarbeat go—=<x (3) jute S (4) barley it

;%W%}hich of the following states has the largest area under sugarcane 7= &I&f @' et =1 # 9 g = & waffo®
?

(1) Maharashtra #2RTg  (2) UP IS&R 99 (3) MP #eg Ul (4) bihar f9gR

u.116 For proper storage, the optimum moisturelevlel of wheat grain shouldhe SUga wvsRY & fog g & <M /Il § 7

@1 IUGad AHT BT AT

(1) less than 10% 10 9fdo & &H  (2)10-15% 10—15 Hfdo  (3)15-16% 46—16 W0  (4) more than 25%25 Ufdo &1 &7

9.117 The optimum temp. during sowing of wheat should be g ®] 8§, & FHI IuJad YA BHT ATRY

(1) 22—23 °C (2)30—35 °C (3)40—45 °C (4)o—5 °C

9.118 Rock phosphate is used for the reclamation of IHERGDT YA IER (JoRA) & forg fas AT foar <irar € 2

(1) alkaline soil & 4 (2) acidic soil s/ g (3) roeKy soil” werieh A (4) sandy soil el

9.119 Which of the following plants does not beagscented flewers =1 3 ¥ s dier & gofea o 81 Raerd ?

(1) hibiscussyriacusfzfexma asRarea (2) lathyrusaderatus @omswd UeRed (3) lonicera japonica wIfSRIRT SaifaT (4) sweet

sultan e gear

9.120 Which instrument is used to measure\wifithspeed a1 &1 T &I A9 & forg fdhd IudHRor &1 gAnT fhar Siar 2

(1) anemometer UHMIER (2) hygrometer €s@@icy  (3) windmill gai—=@@! (4) none Sugad # ¥ ®Is el

7121 Controversial Bt cotton is resiStant to which of the following faarerug ‘BT @urd * fraa fore uferies ® ?

(1) lepiidopteran pests oifiercyd B¥e (2) orthopteran pests 3ffeiiezd ke (3) powdery mildew fungi ussd ficsy wd
(4) bacteria JiRar

¥.122 Carrot is botanically knews asWIToR &1 arafad a4 8

(1) daucuscarota Efeaf@ier (Qhsaphanussativus Y= dergad (3) alliumsativum e Jergan

(4) none SWYad # BT GE!

9.123. Which methed®@fpropagation has been depicted in the given diagram &t 717 o # yaeia & s fy gerig 7 2
?

(1) seed &= (2) budding wferar (3) cutting & (4) airi layering 71
9.124 Which of the following is an acidic vegetables /=1 # & HF—¥ W&ol 3l © ?
(1) rhubarb wa1d(2) shatavari ey (3) beetroot g&=x (4) broccoli sraTel
7125 . Accoridng to the data o the directorate of economics an statistics, delhi total area under food again cultivation in
MP is STERaeRe 3% gPHIMaT Uvs wieRe &, faeell (2009—10) & 3fids & ATAR e Yo H SRR B! (FS I9) B WAl &
I | fbaT &awa 37T ©
(1)12.46 million ha 1246 faferaa 80 (2) 5.20 million ha 520 fafer= 2o (3)30.20 million ha 30.20 faferRE 2o
() none SWdad H & PIS 7L
9.126. Brown rust disease of wheat is caused by g @1 "5 e’ MR BT BRI ©
(1) puccinia recondite ufdafar fwifsser (2) pucciniagraminis afadafar dfAf=a (3) puccinastriformis afdafar TeEwifia (4)
puccinniatritici gfeafrar fefears
9127 . Pusa seedless is a variety of a1 drse” 791 # ¥ fat foe € 2
(1) banana @em (2) kinnow =] (3) grape 3R  (4) pomegranate 3R
¥.128 onion is botanically known as @I~ &1 a=dfad A4 8
(1) alliumcepa tferad a1 (2) solanumlycopersicum Srel=H AgdURIEA (3) alliumsativumuferad degad
(4) none STYad # | P T
9.129 The modern soil surveying techniques include the use of 3 FaT Fderor Tob-Id § TANT a1 ST ©

Head Office : (1) VASNAVI DARBAR,NEAR BANK OF MAHARASTRA, Morar Road Gole ka Mandir, 0751-4723909
: (2) 12- MLB COLONY PADAV LASAKAR GWALIOR (M. P.) 0751-4910670
Call us : Mob : 8889593108, 8109093108, 8819959108 Dir-Mr. SATENDRA SINGH



SCIKRLS‘IH SANSTHAN MPPATI ICAR'CUET(UG) INDIA'S N 0.1 AGRICULTURE COACHING

{Ag 1+Ag-2,3} IMPORTANT FOR PAT EXAM 2014  Your success 1S our mission... Dir- SATENDRA SIR
(1)ERIS (2)LANDSAT (@) GIS (4) SWgad &1
1130 Brinjal is botanically known as &= &1 aufas =M @
(1) solanummelongenaRaie™ #ell=oH1(2) solanumlycopersicon Slel=H aTg®aRi®E  (3)brassicanapeirsfiaT AfRR (@)
brassicaoleracea sRTaT 3feRRyar
7.131 Which of the following crops is suitable for the extraction of fibre besides oil /=1 # & &9 waa &1 START Td &
AT BIgaR At & fog far Swar 2 2
(1) linseed 3oy (2) mustard <=t (3) ground nut FHET  (4) none IWYFT H A DIS ol
9.132. the optimum temp. for refrigeration or chilling iis Yfsre serar fafelr & foy Suga a9 &
(1)0 °C to 5°Cofssft &1 5 fefi C (2)-5t0 0°C —5 f&h A 0 f$hi C (3)-15°C—15 f&i C
(4)-18 to -40°C —18 foift & —40 f&3fi C
9133 The process of adding vitamins to the squash isi known as e # eI e oNIRFENDT 1 Hed 27
(1) canning & (2) pasteurization uERTSSIRE  (3) sulphurization WemgRrsoe™  (4) fortificationwiifthaer
7.134 Which method of propagation has been depicted in the given diagram fav %y 3 # yael= @1 HH-—0 fafy <oig € 8 ?
(1) budding ®fera1(2) seed d51  (3) air layering & (4) grafting wHcT Fierm
1.135. Ear cocke disease of wheat is caused by g @1 A8 (3R Picver) N [0 # W, fb<Ad RO 8l & ?
(1) bacteriadaliRaT (2) nematodes &M (3) fungi THE  (4) parasites( TR
7.136. In crop cultivation which season is called rabi wall @1 ST @ f5G AR &I I H-T SIrer © 2
(1) oct-march sm@cER—od (2) jan-march SHaI—ATE (3) july-oct JaE=dedR (4) may-july AS—IJclTs
u.137 For preservati of natural coloured products, which of thefollewing chemicals is used 3= Ui vl & wRewr &
forg o1 & 9 frw e &1 SUART fdhar ST @ °?
(1) sodium benzoate wIfe™ duiwe (2)KMs (3) SQ, (4)sudeaT a
u.138 The varieties of cotton suitable for MP are %= u<er 3 fav o &1 i1 § 9 S fret Sugaa € ?
(1) Shardanadsurabhi ¥RaT Td =MW (2) rohit and Shamili Jif2d vd sel  (3)khandwa -3andvikramw@tear—3 gd faeH
(4) none Swad # ¥ BIg L
19.139 goldenduranta and iresine are mainly'used as, 7iices S¥<T U4 AR BT YA BT ST €, W
(1)a hedge 851 & %9 % (2) an edge TS % %9 # (3) coloured flowers 39 well & forg (4) all Swda a
9.140 stinkbug is an important pestt,of ¥l ®Ic =1 § | {59 Faifded JHa ugan & ?

(1) rice =madt (2) maize Hd®T (8) soya bean |=TdE  (4) groundnut Hwelt
9141 What should be the optimum acidity level in jell Siefl § Iugad @™ @FIAn) &1 AT fdha 81 @T2g?
(1) 1ufrera (2) 5 wferq, (3) 10 gferera (4)0.5—0.6 Ufcrera

9142 In MP , two year crop rotation'is followed for which of the following crops sowing weaeer # fgaiffes waa =% # fr= #
| e BT BT TR W § 2

(1) cotton-jowar HTE—aR (2) cotton-wheat HUE—E (3) cotton-potato HURI—3TE] (4) cotton-maize HUTH—HaHT
7.143 Which of the'fellowing crops is called as white gold f== % & {5 B &1 “Ahg AT Bl TAT & ?

(1) cotton ®ur (2) white gram ¥%s @ (3) soya bean |EE  (4) none Iudad H | BIS ol

U144 The optimum concentration of syrup in canning should be &1 & forg G @1 Iugad AlGar &1 @12y
(1)20—55 & (2) 7085 °dT (3)50—60%4T (@)10—15%%

7145.. The oil content of linseed seed is

el (formifRTs) @ & # Il @ /137 8l ©

(1)37—43 wferd  (2)soufarerd < arfers (3)70 ufcrera & Af®d  (4) 20—25 wfd

9146 Snapdragon or dogflower botanically known asugi=' a1 SRTHATIR’ &1 ar=RUfad M 8

(1) calendulaofficinalis @egar SfifthRmfer (2) antirrhinummajus TCRIZTH Ao
(3) centaureamoshata ¥=IRAT AkBIET  (4) papaversomniferum YYeR |AR=IHRA
u.147 Pore space is equivalent to which of the following Ja1 w=eraT (%) 1 % ¥ fds a_1eR © ?

bulk desit bulk desit bulk desit article densit,
(1)100—.—y.x 100 (2)1oo+.—y.>< 100(3).—Y.>< 100 (4)¥x 100
particle density particle density particle density bulk density

u.148 The optimum concentration of SO, in nectar and RTS is =/@eR @ RTS % SO, &I IUYH AET B8Rl &
(1)100 p.p.m 100 HoWogHO (2)) 350p.p.m 350 WOWOTHO(3)250p.p.m 250 WoWoTH0(4)750p.p.m 750 Uodo THO

9149 hydraulic force is equivalent to gSgMhfdd Ia fdde RER BAT & 7
( \areaxHeight of water column , AreaxHeight of water column,_\2areaxHeight of water column (4) \ 5 8

Density of water \2)1/2 Density of water @) Density of water
9150 Central institute for cotton research is situated at"3dge &iIcge BR died RFa” (CICR) Rerd &
(1) Nagpur FFTQR § (2) Bhopal #1@ # (3) Mumbaidgas 3 (4) Ahmedabad <EAgETE #
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B~ 1Y T4 gRBE U B T

9.151 Which is the most common animal protein supplement used in the diet of chicken 3R & smER # |alfd® wgaa =
el YT U /b ©
(1) fish meal®sel @1 707 (2) meat meal 7w &1 ol (3) feather meald@ &1 7T (4) liver residue meal Iqd 3Ry &7 Toi

u.152 Crude protein content of broile starter ration as compared to layer starter ration is SR X 3MER H ¥R X
JMER BT o H Hedl UEH BT ©

(1) more 31fd®  (2) less & (3) same dR&R (4) Band C i 2 U4 3

9.153 Which of the following is a fungal diseasae of poultry f= # & gffai &1 wawwfd I 7

(1) Aspergillosis TRRTARTT (2) pullorum gaRA  (3) fowlpox wIReUd (4) coccidiosis HiaATSATRA
9154 Acidity of sweet dahiis I3 (aro1) <& @1 IrFrar Bl

(1) o5 ufaera (2)0.7 wfrera (3) 1.0 ufaera (@)2.0 ufcera
9.155 . Fat content of khoa prepared from buffalo milk is %9 & & & 9911 T w19 H(&=] 8y 2
(1)25.7 ufco (2) 28 ufdo (3)32.7 ufdo (@)37.1 ufdo

u.156 basic design of butter churn is #aE= #erFl % & &SI 81l ©

(1) swinging churn s[ei™ arell @ (2) rotating churn g arell #erAl (3) dashichurng@xr areft Ao

(@) all Suda

9157 The factor which influnces fat percent of creame is M & T IR D] THIIIT A Tl HRE ©

(1) the position of creame screwam @ &7 I (2) bowl speed, e iafel (3) therateof milk in flow g 3R WM &1 &=
(@) all ST

u.158 Grower stage of layer chicken is R gRRI & TR rael ol &

(1)4-8 weeks 4—8 A8 (2)6-9 weeks 6—9 A« (3)9-20Weeks 9—20 T«iE (4)8-14 weeks 8—14 A«

9.159 Which of the following breeds is known as champion of ggg productioniinpoultry = % & gffal & &= A 7% aroer
ST &g I w1 S § 7

(1) white leghorn g <RTeiH (2) ancona UA®IEI (3).miinerca fA-Tat (4) new Hampshire = g¥eIRR
g.160 Carbon dioxide level inside the incubater should'hot exceed SHEH T3 FTRECR) H HET SRS BT wWR IS &1

BT =M12Y
(1) 0.1—0.2 uforera & (2)0.3—0.5 UfZd W, (3) 07—0.9 Wiwd A (4) 1.5—1.8 UfErd &

u.161 feed conversion ratio for comiercial broilers is about =rERe SFeR H MER WUTCRYT U BT 8, ST
(1 (2)2 (3)3 (@)4
u.162. Pitfall of cage system of heusing i poultry is gRfa & e @1 fUSRT Ugid § &9 &
(1) difficult cutting B ®f&T (2) heusig and equipment cost 3Ma Td IUHRTT J& (3)occurrence of coccidiosis HiaiifSaARIA
BT (4) space requirEMent\SITE &1 STTeIEHT
9.163 Which of the following i§ the leading state for poultry production in india ¥RT # Gge SET § T E 59 &
(1) Andhra Pradesh eTgiucer (2) tamilnadu Tf¥errg, (3) Gujarat ToRId(4) UttarakhandswRiars
1.164 Siick animals are checked by Ff uggeii & wRieor @ Ay &
(1) inspection f¥igor  (2) percussionyETa (3) auscultation aRsm@vr (4) allswdaa af
7.165. In which of the following disease of cattle there is abortion of pregnant animal 6-7 months of pregnency = # &
sy S & M 7 gggel § 6—7 ATE 918 U B O 8 P
(1) anthrax &= (2) brucellosis @RI (3) blackquarter <€l (4) mastitis e
u.166. For which of the following disease of cattle, pre monsoon vaccination shoul be done every year
/= # 9 1 Ul @ 5 MR @ 99 g 991 kg @ 49 ufa av ST o e’
(1) anthrax frerel 9T (2) balckquarter & <1 (3) haemorrhagcsepticaemia Teeic.  (4) all Sugad w1
9.167 Chromosome number of chicken is gffai # sHEm ww@m gt ©
(M72 (@78 (3)80  (4)82
u.168 The distance between two poutry houses of same age group chicken should be same age group chicken should be at
least T &1 fhae T & FU-—SGT & U Db AT A1 ?
(1) 240 (2) 270 (3)305 (4) 330
z;f%s;Cow should be dried off after how many days of lactations T&aAM 39 arell GRfET & <7 &_1 & 9/ H9 § F7 A B
(1)12 #ex (2) 15 Hex (3) 18 #Hex (4) 24 Arex
1170 Environmental influences are less in characters having ardra=er &1 91d 39 oefoil § &9 grar &, gl 8
g)%igh heritability S=a amgafRi®ar (2) low heritability 1 smgdfmsar (3) medimheritabiit #e79 MgalRiear 4) none Swda #
el
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H.171glﬁ1NTgrading up method of breeding purebred character will be attained after FHEIRT §RT USHH WM R G T B AL
T

(1)3 generations 3 Qfedl # (2)4 generations 4 ifeai # (3)5 generations 5 Wifedt # (4)7 generations 7 Qfear

7172 By using liquied nitrogen, semen straws are stored at the temperature of TRal RIS & IUANT T 9 ¥t 1 # 9
fre dmEd R HeIRa fd o § ?

(1) —70°C 2) —100°C (3) —196°C (4) SWaT § | BIg TEI

9.173 In india, artificial inseminatiions was used for the first time at wRa # wdufi W wfer= fear T

(1) NDRI, karnal 790 Slo 310 380, &)1l # (2) IVRI, Bareilly 3mdo 4 0 amR0 31 0, axell #

(3) palace dairy farm, mysoreterd STIw™, #R # (4) project directorate on cattle meerut 7t gy gRaAHT fAcwme™, #Re #
9.174 incomplete milking in cow causes i # 1qUl gEw—<IEd ¥ BT ©

(1) reductioniin fat percent of milk g7& & a1 ufaera § &1 (2) udder infection 3—F | A& Hw

3)aand B i 1 td 2 (4) more milk production later on @78 ¥ 31f9I® g ST

9.175 In cattle, conventional barns are preferable to loose housing due to 7T T3, # §7< =R a7 AlfdHd YoTel, Gol B AT Jad
R gUel @1 et H i 9 5w arer 9 Rgfuee @

(1) better clearin 98k TS (2) better disease control dgax I°T 507 (3) J€ss expesure to outside weather conditions ar&
#Arga gRRefE &1 o8 uey (4) all Swam w1

9.176 The method of drying for dairy cattle is ST it Tl B Yh G 1A 2

(1) completecassation of milking g% 8= qof ¥t § < &< (2) incomplete’milkingsrel giar q

(3) intermittent milking 3RTal W g% areA (4) all Sudag, T

9.177 Casein content of buffalo milk as compared to cow milk\¥ie, 1 # &= & 7131, T & g & o 3§

(1) is higher sureT Bt 2 (2) is lower &9 8l @ (3) is the same, aRTeR BRI & (4) varies with diet ER & AR Tl &
9.178 most of nitrogen in milk is found as gu # 3fIFTe oA B BT 87

(1) casein @4 (2) lactalbumiin siaceg® = (3) lacteglobulin clacragfe (4) lactoferrin clac®RA

9.179 main milk producing animals of india are\ TR@ %, &1 TU—IUEH Ug ©

(1) cows T (2) buffaloes ¥ (3) sheep <’ (4)'goats gt

4.180 Per capita avaiilabiliityof milk in india%s™wRa # uf =fda g Sueien &

(1)183 g/day 183 T\ ufafes (2)223g/day, 223, T ufafes

(3)263g/day 263 I ufafes (4)153g/day 158,37 wfafed

u.181 The region between twoforelegs'ef a cattle is called i Tpif & 3rTet I;Ri & d/=F BT WFT By 2

(1) breast &1 (2) brisket greRaget (3) jowl @U@ (4) none IWIad # | BIS TEl

9182 Which of the following is.no a part of small intestine /=1 # & HIF—1 B! 3rfd &1 e =81 € ?

(1) duodenum sZ3TSTH (2) lleum sfora= (3) jejunum RSISEH - (4) rectum HaTE

U183 Karan swiss is'a breed of @< Raw fhaar = g ?

(1) cow T 2)'puffalo #1 (3) sheep W€ (4) goat g%

7.184 Which of the folldwing is dual purpose breed of sheep 7= # I -0 4 FI fgHoN TRl & ?

(1) Corriedale ®RIsa  (2) dorset SR¥e  (3) karakul &Hvaer (4) southdown aTSres+

u.185 Triplets are common in which of the following breeds of goat /= # & I&% @1 b =T § T FH7 A= YT BT 872
(1) jamunapari /AR (2) black Bengal i@ & (3) beetal died (4) sirohi RRE

7.186 %ickle shaped horn is a characteristic of which of the following buffalo breeds ERT & meR & AT 9 o fod v &
ety g 7

(1) murrah 3T (2) surti T (3) bhadawari w=T@™r (4) jaffarabadi STT=TETST

4187 . For testing adulteration of cow milk with bufflo, which of the following tests is used ¥\ & g % 79 & gg &1 fAdmEce
SirerT 7g 9§ | -1 RIeTor fhar ST § P

(1) alcohol test Yemietal TRerr  (2) starch and potassium iodide test e vd UICRRM MAIEEs Tiefor

(3) hansa test &=a1 TRleTor (4) none SUYad # | P T
7.188 manger space requirement of an adult cattle is a3 i U3 & IR & g § W DI MMTHHAT BRI &
(1) 40-50 J0HI0 (2) 50—60%.H (3) 60—75 A (4)75—90%+,

U.189 increase in environmental temp. causes following changes in milk composition ammERYT &1 AIHE Je+ | e Faed d
71 % & PIF—w1 uRade gar & ?
(1) increase in fat content a&1 # gfg (2) increase in lactose content wi@erst # gfg  (3) increase in protein content WdH #
gfg (4) increase in SNF content a1 32 a1 # gheg
9.190 The pH of fresh buffalo milk varies from %9 & am gg & pH &1 &
(1) 58 ¥ 6 2) 64 W 65 3) 67 W 68 ()54 3 56
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g.191.specific gravity of milk is increased by ¥ &7 smifére &9 dedr ©

](;)gc;ggti%?f skimmed milk \Wer gg e 9 (2) removal of creame @9 g™ ¥ (3) both a and baFT 1 Td 2 (4) none SWF
7.192. Which of the following is the productive type of roughage = # & &F— &1 IAEH aRT & ?

(1) maize 7T (2) jowar R (3) bajara aoRT  (4) berseem s=¥M

7193 Good quality silage should have high content of 318! f&w & Hgerst # 1fd@w AT B A1y

(1) acetic acid wfifed 3t @1 (2) butyric acid EIR® 3t @1 (3) propioic acid WifUsiE et @t

(4) none IuYad H | BIS ol

¥.194. peculiarity of sheep feeding is %€ @& 4o @ faRyar

(1) sheep prefer large mature grass %€ ol URUSH &RT WHET U< B &

(2) sheep chew feed less thoroughly than cattle ¥ 1 &1 =T § HH IR Fal ©

(3) sheep complete with dairy cow on pasture %€ guT% g ¥ =TRATE # ARG Bl ©

(4) sheep nibble small blades of grass on pasture ¥€ =RIE # 91 & BIC gdHS Bl Gl o

7195 .breeding buck, feeding on pasture, should be provided with whichrofithe following amounts of concentrate daily
TS Bg UYA Bl dTel R gdY Pl RIg & AT Ui fHaar A= AER <1y ?

(1) 200 u™ (2) 300 U™ (3) 400 U™ (4) 500 U™

¥.196 Characteristics of a good bull is T& 312 Wfe &1 el &

(1) purebred and masculine body g 7% Td AT TRR

(2) no physical deformity @15 ifae araqer &1

(3) dam record in pedigree of bull should be good ¥ife @ denigcip#, At &1 Rals sreeT g a1ty

(@) all ST

7197 number of permanent teeth in a cow is T #, IART <fdl @1 AT 8l

()20 () 28 (3)32 (4) 40

;%A good heifer cow of indian breed should have which of the following YR a1 & Ta AT MR T H EH1 /BT
(1) birth weight 15-20 kg <=1 wR 15—20 [F.«(?)age” of sexual maturity 10 months aRussar &1 99 10 A8 (3) pedigree
should be good =t demaet (4) all IGFET T4

9.199 Which of the following teeth@re used for age determination in cattle 7 ugail @1 I8 iR == 8 7/ & & H—T
Sfd 9gad BT 8 ?

(1) camine ¥t &< (2) inciser®wich o=l (3) premolar 3% q@ (4) molar T@

9.200. In which of the following diseases, chicken vaccine is administered in the wing /1 3% & Tt @1 fow d9R) &g dw #
BT TR ST & 2

(1) Fowlpox ®TSeuias, () gimboro TR (3) marek &% (@) ranikhet frEd
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